e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 3 info@parsrot.com




Rot sy

== Land SEAT
ALHAMBRA (7v8,7V9) 1996-2010
|
FO-2098 FO-2097
— Salincak Burcu Salincak Burcu =
On Sag Alt Dis Orta
7M0407181A 7M0501541
| |
VW-12751 VW-23752753
Rotbasi Rot Takimi
ﬂ On Sag On Sol h__’
M14x15RNt 70104228036
7M0422818B
| |
VW-23751753 VW-13753
Rot Takimi Rot Mili
O—ﬂ On Sag Onig —ﬂ
7M0422804G M14x1,5-L=182.5mm
7M0422804EF
| |
VW-20750K VW-14750
Z-Rot Kiti Z-Rot
On On ’mb
V-750X2 L=205mm
95VW5489AC 95VW5489AC
| |
VW-16757 VW-16756
Rotilsiz Salincak Rotilsiz Salincak
On Sol On Sag Alt
95VW3079AC 95VW3078AC
| |
- VW-11755 VW-12752
Rotil Rotbasi
On On Sol h
YM213395BA  M14x1.5Rnt
7M0422817B
2004-2015
| |
AU-20488 AU-20487
Salincak Burcu Salincak Burcu
Sag Orta
1K0199232H 5Q0407182

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= [and SEAT
ALTEA 2004-2015
AU-20489 VW-14557
Salincak Burcu Z-Rot
Sol On ’_‘
1Ko199231H  L=335mm
1K0411315J
VW-14558 VW-20558K
ZRot  Z-RotKiti %
Arka Arka ha-——-—-!
L=95,5mm L=95,5mm —_— é"’
1K0505465K 1K0505465KS1
VW-19228 VW-16561N
Denge Kolu Rotilsiz Salincak
Arka Alt On Sag Alt
1K0505311AB  Only:Diesel
1K0407152M
AU-18152 VW-16562N
Salincak Tamir Kiti Rotilsiz Salincak
On On Sol Alt A
V-555/\/-556-V-557-SB487/SB488/SB48 Only:Diesel
1K0407151M
VW-16560N  VW-16559N —
Rotilsiz Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt A
Only:Petrol Only:Petrol
1K0407151Q 1K0407152Q
VW-16562 VW-11556 B
Rotilli Salincak  Rotil S
On Sol Alt On Sol Alt ,&”
Only:Diesel 1K0407365E 7 ‘~ ‘
1K0407151AC 5
. VW-11555 VW-12552
\"‘Q ‘ W » Rotil Rotbas! :
b \{t On Sag Alt On Sol o
) @ 1Ko407366E  M16x1,5Rnt @'—
3 1K0423811K

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 5 info@parsrot.com



Rot sy

= Land SEAT
ALTEA \") 2004-2015
.|
VW-16561 VW-16560
Rotilli Salincak Rotilli Salincak
. " On Sag Alt On Sol Alt
" Only:Diesel Only:Petrol
1K0407152AC 1K0407151Q
| .|
VW-16559 SK-19457
Rotilli Salincak Denge Kolu
On Sag Alt Arka Alt
Only:Petrol L=298mm
1K0407152Q 1K0501529J
| .|
VW-13553 VW-12551
RotMili  Rotbasi :
= " Onig On Sag i1
M16x1,5-L=310mm M16x1,5Rht
1K0423810A 1K0423812K
ARONA 1st Gen 2017 after
|
VW-16939 VW-16938
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
2Q0407151B 2Q0407152B
|
VW-16948 VW-16949
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
2Q0407152C 2Q0407151C
|
VW-16938N VW-16939N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
2Q0407152B 2Q0407151B
|
VW-16948N VW-16949N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
2Q0407152C 2Q0407151C

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

6

info@parsrot.com



—
sy L and

AROSA

SEAT
1997-2004

N alliRt

VW-13902 VW-13903
Rot Mili Rot Mili
—A On On
M14x1 ‘S%C{y{e:r:ﬁg%imn% ManuelSteering M14x1,5Rht-L=306mm
6N0422803A 6N0419803
VW-13913 VW-23911913
Rot Mili Rot Takimi
D — On On Sag
(withPS,Hydro) M14x1,5Rht (withPS,Hydro)
6N0422804C 6N0422804C
VW-23912913 VW-23914
A- Rot Takimi Rot Takimi
/ On Sol On Sag
a/" withPS,Hydro ManuelSteering
6N0422803C 6N0422804
VW-12401 VW-12402
Rotbasi Rotbasi
On Sag On Sol Dis
M14x1,5Rht M14x1,5Rht
3A0422812 3A0422811
VW-14906 VW-16926
Z-Rot Rotilli Salincak
On On Sol Alt
L=30mm-D=@18,5mm 6N0407365
6N0411315D
VW-16925N  VW-14909
Rotilsiz Salincak Z-Rot
On On
6N0407151 L=30mm-D=@16,5mm
6N0411315
VW-23915 VW-23916
Rot Takimi Rot Takimi
On Sol On Sag
ManuelSteering PowerSteering
6N0422803 6N0419804A

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

i

parsrot.com

info@parsrot.com



SEAT

1997-2004

VW-23917 VW-11904
Rot Takimi Rotil
On Sol Sag
PowerSteering 6N0407366
6X0419803A
VW-11905 VW-11904K
Rotil Rotil Kiti
On Sol Alt On Sag
6N0407365 6N0407366
VW-11905K VW-16925
Rotil Kiti Rotilli Salincak
On Sol On Sag Alt
. @ 6N0407365 6N0407365A
AAA ST -
SE-20193 SE-2048
Salincak Burcu Salincak Burcu
’ Orta On Dig
6N0407182 6N0407181
CORDOBA (6L2)
SE-20492 SE-20522
Salincak Burcu Salincak Burcu
On Sag Altig ic
6Q0407182A 6Q0407183A
SK-18414 SE-12402
Salincak Tamir Kiti Rotbasi
On On Sol
SK-410K-SK-411K/SK-401 SKﬂg;/Z%IB TRWSteering M14x1,5
6Q0423811C

SE-13403

Rot Mili

On

TRWSteering M14x1,5-L=320mm
6K0422803F

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

SE-23401403
Rot Takimi

On Sag
TRWSteering

6K0422804E

2002-2009

L

|

parsrot.com

8

info@parsrot.com



Rot sy

= [and SEAT
CORDOBA (6L2) 2002-2009
|
SE-23402403 SE-12401
Rot Takimi Rotbag! &
;P-—’ On Sol On Sag i)
TRWSteering ~ TRWSteering M14x1,5 d
6K0422803E 6RD423812B .
|
” SK-11405 SK-11406 D
) Rotl  Rotil ’
/ On Sag Alt On Sol Alt
8Z0407366A 8Z0407365A
SK-16410 SK-16411
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
6Q0407366A 6Q0407365A
| .|
SK-16410N SK-14407
Rotilsiz Salincak Z-Rot
On On \
6Q0407151D  L=270mm
6Q0411315D
CORDOBA 1993-1999
| |
VW-14907 VW-14410
Z-Rot Z-Rot
: On On
“ L=78mm-D=@18mm IBIZA L=75mm-D=@16,5mm
6K0411315 191411315
|
VW-14510 VW-16427N
Z-Rot Rotilsiz Salincak
-‘ ! o On  OnSag Alt
\ , IBIZA L=69.5mm-D=@17.5mm 1914071528
191411315B
|
VW-16428N VW-16535N
Rotilsiz Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
1914071518 Only:GTIM6V
1H0407152

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land
CORDOBA il
VW-16536N VW-13406
Rotilsiz Salincak Rot Mili
A On Sol Alt On
Only:GTI16V PowerSteering M14x1,5Rht-L=340mm
1H0407151A 191422721
— VW-23415  VW-23416
Rot Takimi Rot Takimi
o é‘ On Sag On Sol
TRWPowersteering|BIZA TRWPowersteering|BIZA
191422804A 191422803A
VW-23417 VW-11404
Rot Takimi Rotil
c é On Sag On
ManuelSteering-IBIZA IBIZA
191419804A 357407365A
— VW-23418  VW-11530
Rot Takimi Rotil
é - On Sol On
ManuelSteering-IBIZA BIX@BR?%%RW%LHIZA
191419803A 1HO407365
— VW-11404K  VW-11530K
L. Rotil Kiti  Rotil Kiti
o . - . .
sy On On
”’ IBIZA (Withinforcement) Only:GTl D=&19mm
35740736551 1H0407365
— VW-16427 VW-16428
Rotilli Salincak Rotilli Salincak
A OnSagAlt  On Sol Alt
IBIZA Ball Joint D=@19mm IBIZA Ball Joint D=@19mm
191407152B 191407151B
— VW-16535 VW-16536
Rotilli Salincak Rotilli Salincak
A OnSagAlt  On Sol Alt
Only:GTIM6V Only:GTIM16V
1H0407152 1H0407151A

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

SEAT

1993-1999

parsrot.com

10

info@parsrot.com



Rot sy

== Land SEAT
I —————————
CORDOBA il 1993-1999
|
VW-16425N VW-13405
Rotilsiz Salincak Rot Mili
On On {20
BIZA MRas'Sieene® i,
191407151A 191419807A
| |
VW-12402 VW-12401 :
! Rotbasi Rotbasi
On Sol Dis On Sag
M14x1,5Rht M14x1,5Rht
3A0422811 3A0422812

2008-2013

AU-16629 AU-16628

Rotilli Salincak Rotilli Salincak

On Sol Alt Arka On Sag Alt Arka ‘
(Chassis from 8H7000001>) (Chassis from 8H7000001>) .

8E0407693T 8E0407694T

AU-19535 AU-14538
Denge Kolu Z-Rot
Arka On Sag

L=337Tmm  gE0411318
8E0501529G

AU-14539 AU-19624
Z-Rot Denge Kolu
On Sol Arka Sag Ust Arka
8E0411317 3R0505324

3

AU-19625
Denge Kolu

Arka Sol Ust Arka
3R0505323

SRIVAR

I 1984-1993

SE-20159 FT-12901

Salincak Burcu Rotbasi

L

Arka On
823407181  M12x1.5Rnt
5960056

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 11 info@parsrot.com



Rof
== Land SEAT
________________________________________________________________________________________________________________________________________|
IBIZA | 1984-1993
|
FT-13405 SE-16304
Rot Mili Rotilli Salincak
-~ - Oni On Alt ._~
ManuelSteering M12x1 ,5-L=276.8mr§ D=15mm
SE022162449S SE021156110A
] |
SE-16305
Rotilli Salincak
o—0u=b On
D=@15mm
SE021156110B
IBIZA | 1994-1999

SE-16305 SE-16304

Rotilli Salincak Rotilli Salincak

On On Alt
D=@15mm D=@15mm

SE021156110B SE021156110A

VW-16425N VW-16536

Rotilsiz Salincak Rotilli Salincak

On On Sol Alt
IBIZA Only:GTI16V

191407151A 1HO0407151A

VW-16535 VW-16428

Rotilli Salincak Rotilli Salincak

On Sag Alt On Sol Alt
Only:GTI16V IBIZA Ball Joint D=&19mm

1H0407152 191407151B

VW-16427 VW-11530K
Rotilli Salincak Rotil Kiti

On Sag Alt On
IBIZA Ball Joint D=&19mm (Withinforcement) Only:GTI D=&19mm

191407152B 1H0407365

didrand

VW-11404K VW-11530

Rotil Kiti Rotil

‘ a‘_i_ - On On
Pl ol ol BIZA (VgioremenalR!2A
35740736551

1H0407365

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 12 info@parsrot.com



Rot sy

= Land SEAT
]
IBIZA Il 1994-1999

VW-23418 VW-11404
Rot Takimi Rotil

On Sol On
ManuelSteering-IBIZA IBIZA

191419803A 357407365A

VW-23417 VW-23416
Rot Takimi Rot Takimi

On Sag On Sol
ManuelSteering-IBIZA TRWPowersteering|BIZA

191419804A 191422803A

VW-23415 VW-13406
Rot Takimi Rot Mili
On Sag On
TRWPowersteering|BIZA PowerSteering M14x1,5Rht-L=340mm
191422804A 191422721

VW-16536N VW-16535N

Rotilsiz Salincak Rotilsiz Salincak

On Sol Alt On Sag Alt
Only:GTI16V Only:GTI16V

1H0407151A 1H0407152

VW-16428N VW-16427N
Rotilsiz Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
191407151B 191407152B

VW-14510 VW-14410

Z-Rot Z-Rot

On On
IBIZA L=69.5mm-D=@17.5mm IBIZA L=75mm-D=316,5mm

191411315B 191411315

VW-14907 VW-12401

Z-Rot Rotbasi

On On Sag
L=78mm-D=@18mm M14x1,5Rht

6K0411315 3A0422812

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 13 info@parsrot.com



—
sy L and

SEAT

1994-1999

Jil g

—

2002-2009

|3 @]

VW-12402 VW-13405
Rotbasi Rot Mili
On Sol Dig On
MIASRAE AR SR TS m
3A0422811 191419807A
FT-13405 FT-12901
Rot Mili Rotbasi
Onlig On
ManuelSteering M12x1,5-L=276.8mm M12x1,5Rht
SE022162449S 5960056
SE-20159
Salincak Burcu
Arka
823407181
IV (6L1)
SK-12402 SK-12401
Rotbasi Rotbasi
On Sol Dis On Sag Dis
M14x1,5Rht M14x1,5Rht
6Q0423811D 6Q0423812D
SE-20522 SE-20492
Salincak Burcu Salincak Burcu
ic On Sag Altig
6Q0407183A 6Q0407182A
VW-14907 SE-23401403
Z-Rot Rot Takimi
On On Sag
L=78mm-D=18mm TRWSteering
6K0411315 6K0422804E
SE-13403 SK-16410N
Rot Mili Rotilsiz Salincak
On On
TRWSteering M14x1,5-L=320mm 6Q0407151D
6K0422803F

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com



—
sy L and

SEAT

2002-2009

>

IV (6L1)
SK-16411 SK-16410
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
6Q0407365A 6Q0407366A
SK-11406 SK-11405
Rotil Rotil
On Sol Alt On Sag Alt
820407365A 820407366A
SE-12401 SE-23402403
Rotbasi Rot Takimi
On Sag On Sol
TRWSteering M14x1,5 TRWSteering
6RD423812B 6K0422803E
SK-13403 SE-12402
Rot Mili Rotbasi
On On Sol
TRWSteering M14x1,5-L=297mm TRWSteering M14x1,5
6Q0422804B 6Q0423811C
SK-18414 SK-18410K
Salincak Tamir Kiti Salincak Kiti
On On Sag
SK-410K-SK-41 1K/SK-401-SK-18;/2§A}S 6Q0407151DR
SK-23401403 SK-23402403
Rot Takimi Rot Takimi
On Sag On Sol
ManualSteering TRWSteering
6Q0422804B 6Q0422803B
SK-18411K
Salincak Kiti
On Sol
6Q0407151DL

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERLEM

parsrot.com

info@parsrot.com



Rot sy

{4 PYn

u“

== Land
IBIZA V (6R)
SK-23401923 SK-16428
Rot Takimi Rotilli Salincak
., On Sag On Sag Alt
820423804C 6R0407152
]
SK-23402923 SK-16429N
Rot Takimi Rotilsiz Salincak
y——— On Sol On Sol Alt
820423803C 6R0407151
]
SK-16429 SK-16428N
Rotilli Salincak Rotilsiz Salincak
v On Sol Alt On Sag Alt
6E0407151 6R0407152
|
SK-14407 SK-12401
Z-Rot Rotbasi
On On Sag Dis
d\\’ L=270mm M14x1,5Rht
) 6Q0411315D 6Q0423812D
|
- SK-11425 SK-12402
F Rotil Rotbasi
On Sol Alt On Sol Dis
: 6R0407365 ~ M14x1.5Rnt
1 6Q0423811D
|
VW-13923 SK-11424
Rot Mili Rotil
On On Sag Alt
M14x1,5-L=313mm 6R0407366
820419810C
LEON (5F1)
|
AU-19487 AU-19485
Denge Kolu Denge Kolu
Arka Alt Arka Sag Ust
5Q0505311C 5Q0505224D

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

SEAT

2008-2017

2012 after

parsrot.com

16

info@parsrot.com



Rot sy

= Land SEAT
(5F1) 2012 after
—
AU-19486 VW-19228
Denge Kolu Denge Kolu
Arka Sol Ust  Arka Alt ,
5Q0505223D  1K0505311AB
—
VW-12552 VW-13553
: Rotbasi  Rot Mili
W On Sol On g ——
M16x1,5Rht  M16x1,5-L=310mm
1K0423811K  1KO0423810A
—— —
VW-12551 VW-19587
: Rotbasi Denge Kolu
OnSag  Arka Ust
M16x1,5Rht  500505323D
1K0423812K
P VW-11556 VW-11555 <
STy .’1’;’ Roti  Rotil "'\\. g
. . ) N & /
”’L ; OnSol At On Sag Alt . ~Qg!
: 1 1K0407365E  1K0407366E * ;
VW-14557 VW-20558K
Z-Rot  Z-RotKiti %
' ‘ On Arka ‘-—-— - e
L=335mm L=95,5mm In 4::/
1K0411315)  1K0505465KS1
—
VW-14580 VW-19586
Z-Rot Denge Kolu
Arka Arka Alt On
L=70mm  5q0501529C
5Q0505465A
— —
VW-14558 SK-16458
Z-Rot Rotilli Salincak
Arka On Sag Alt _
L=95.5mm  4x0407152BC . ‘
1K0505465K

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

17

info@parsrot.com



Rof
mw Land SEAT
LEON (5F1) 2012 after
|
SK-16459 SK-16458N
Rotilli Salincak Rotilsiz Salincak
A OnSol At On Sag Alt
. 1K0407151BC 1K0407152BC
|
SK-16459N
Rotilsiz Salincak
ﬁ On Sol Alt
1K0407151H
LEON 1M1 1999-2006
| |
AU-13594 AU-23591594
Rot Mili Rot Takimi
— On On Sag
8N0422804D 8N0422804D P/g
| |
AU-14499 AU-14500
Z-Rot Z-Rot
"_=_' On Sol On Sag ’._*
4Motion L=336mm 4Motion L=336mm
1J0411315D 1J0411316D
| |
VW-14531 AU-19498
Z-Rot Denge Kolu
On Arka " el
h Plastic L=105,5mm 1J0505323H
1J0411315C
| |
AU-23506 AU-13503
Rot Takimi Rot Mili
o \ On Sag Oni p——
iy Ch.8L.W-050-423-S Ch.8gI_-W-050-423-> M14x1,5-L=320mm
1H0422804D 1J0422807A
| |
AU-16525N AU-16526
Rotilsiz Salincak Rotilli Salincak
On On Sol Alt
1J0407151C 1J0407151A

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

18

info@parsrot.com



Rot sy

= [and SEAT
1M1 1999-2006
——
AU-16525 AU-11505S
Rotilli Salincak Rotil 9
OnSagAlt  On Sol Alt
1Jo4071518 Kt
1J0407366C
—— ——
@ AU-11505 AU-11495
I Rotil  Roil
OnSol At On Alt
1J0407365B  8N0407365C
——
AU-11504S AU-11504 @
® Roti  Rotil
OnSagAlt  On Sag Alt
Kit 4 J0407366C
1J0407366C
—— ——
AU-23507 AU-12501
Rot Takimi Rotbasi :h.
On Sol On Sag Ve
G @ Ch.8L.W-050-423-> M14x1£,15Rht h__&
1H0422803D  6Q0419812 -
—— E——
AU-12502
Rotbasi
On Sol
&——-‘ M14x1,5Rht
g 6Q0419811
LEON 1P1 2006-2009
E——
N VW-11555
® - Rotil
\'\Q ‘ On Sag Alt
’ * S 1K0407366E
LEON 1P1 2006-2012
VW-12552 VW-11556 P
-I Rotbasi Rotil ! o ) o
W OnSol  On Sol Alt ’?s
&'— M16x1.5Rht  4K0407365E : ’
1K0423811K “9'

o

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land SEAT
LEON 1P1 2006-2012
I
AU-18152 SE-19108
= Salincak Tamir Kiti Denge Kolu
On  Arka Sag Alt & === O
V-555/V-556-V-557-SB487/SB488/SB4g L=298mm
1K0501530C
I
SK-19457 SE-19109
Denge Kolu Denge Kolu
Arka Alt  Arka Sol Alt )
L=298mm L=298mm
1K0501529J 1K0501529F
I
VW-13553 VW-12551
RotMili  Rotbasi :
Onig On Sag L
M16x1,5-L=310mm M16x1,5Rht —@
1K0423810A 1K0423812K
I
VW-19228 VW-14558
Denge Kolu Z-Rot
Arka Alt Arka
1K0505311AB  -=99.5mm
1K0505465K
I
VW-14557 SK-16458
Z-Rot Rotilli Salincak
On On Sag Alt ; A
L=335mm  4x0407152BC .
1K0411315J
I
SK-16459
Rotilli Salincak
On Sol Alt
1K0407151BC
MARBELLA 1986-1992
I I
FT-13704 FT-16325
Rot Mili Rotilli Salincak
ﬂ On On Ust
M14x1-L=142mm  gE0o8140104A
4318655

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

20

info@parsrot.com



Rot sy

mw Land SEAT
MARBELLA 1986-1992
|
FT-20429
- Salincak Burcu
OnDig
4157013
MARBELLA 1992-1998
| |
FT-16328 FT-11303 £
Rotilsiz Salincak Rotil f'g‘ﬁ
k% On Alt On Ust
SE141156110A SE141140104A
| |
FT-12321 FT-13708
Rotbasi Rot Mili
On On —asi
M12x1,5Rht M12x1,5-L=192mm
SE141162410A SE141162449A
Mii ( KYF) 2011 after
| |
AU-2012 SK-11425 -
Salincak Burcu Rotil 5
On Sag Alt Dis On Sol Alt
- 1J0407181 6R0407365
|
SK-11424 VW-16579N
% Rotil Rotilsiz Salincak
“ On Sag Alt On Sol Alt
3y 6RO407366 150407151
-
|
VW-16579 VW-16578N
& Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
150407151 150407152
|
VW-13573 VW-12571
Rot Mili Rotbasi
/ On On Sag
M14X1,5-L=306mm M16x1,5Rht
1S0423810A 1S0423812A

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

21

info@parsrot.com



Rot sy

== Land SEAT
Mii ( KYF) 2011 after
|
VW-12572 VW-16578
Rotbasi Rotilli Salincak
‘K On Sol On Sag Alt
= M16x1.5Rt 450407152 >
1S0423811A
| |
SK-14407
Z-Rot
. On
d\’ L=270mm
6Q0411315D
1982-1988
|
FT-2070 FT-13708
Salincak Burcu Rot Mili
Arka On —ii
4364095 M12x1,5-L=192mm
- SE141162449A
| |
FT-16805 FT-12901
Rotilli Salincak Rotbasi
.—..J On  On
D=@8mm M12x1,5Rht
7535188 5960056
TERRA 1984-1990
| |
FT-12901 FT-16805
Rotbasi Rotilli Salincak
On On H
4 M12x1,5Rht  D=@8mm
5960056 7535188
| |
@ OP-12202 OP-11203
| Rotbasgi Rotil
4 On Sag On
1 M16x1,5Lht 90375505 d
; = 7846485
| |
P OP-12201 FT-2070
E ;‘ Rotbasi Salincak Burcu
| On Sol Arka
w M16x15RN  4acy00c
l; 90140007

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land SEAT
TOLEDO 1(1L) 1993-1999
VW-13405 VW-12402
RotMili  Rotbasi '
On On Sol Dis
MAIBRREI0g G, Mt oRnt
191419807A 3A0422811
VW-12401 VW-14907
Rotbasi Z-Rot
On Sag On m
M14x1,5Rht L=78mm-D=@18mm
3A0422812 6K0411315
VW-14410 VW-14510
Z-Rot Z-Rot
On On
IBIZA L=75mm-D=@16,5mm IBIZA L=69.5mm-D=@17.5mm
191411315 191411315B
VW-16427N VW-16428N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
191407152B 191407151B
VW-16535N VW-16536N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
Only:GTI16V Only:GTI16V
1H0407152 1H0407151A
VW-13406 VW-23415
Rot Mili Rot Takimi
PRSI - On On Sag
PowerSteering M14x1,5Rht-L=340mm TRWPowersteering|BIZA
191422721 191422804A
— VW-23416  VW-23417
Rot Takimi Rot Takimi
‘Ei : On Sol On Sag
TRWPowersteering|BIZA ManuelSteering-IBIZA
191422803A 191419804A

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land SEAT
TOLEDO 1 (1L) 1993-1999
VW-11404 VW-23418
Rotil Rot Takimi
On On Sol é" »
IBIZA ManuelSteering-IBIZA
357407365A 191419803A
VW-11530  VW-11404K —
Rotil  Rotil Kiti L
3 3 -
On On Ly ]
e oy
1H0407365 35740736551
. VW-11530K  VW-16427
Rotil Kiti Rotilli Salincak
; On On Sag Alt
S (Withinforcement) Only:GTl D=&19mm IBIZA Ball Joint D=&19mm
- oo‘c; 1H0407365 1914071528
— VW-16428 VW-16535
Rotilli Salincak Rotilli Salincak
A OnSol At On Sag Alt
IBIZA Ball Joint D=Z19mm Only:GTI16V
191407151B 1H0407152
— VW-16536 VW-16425N
Rotilli Salincak Rotilsiz Salincak
A On Sol Alt On
Only:GTI16V IBIZA
1HO0407151A 191407151A
e VW-12331  VW-12332
Rotbasi Rotbasi
On Sag On Sol
(WITHPS) M14x1,5Rht (WITHPS) M14x1,5Rht
3A0422812 3A0422811
VW-13333  VW-23331333
Rot Mili Rot Takimi
On On Sag
(WITHPS) M14x1,5Rht (WITHPS) M14x1,5Rht
* 6K0422804D 6K0422804D

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land SEAT
TOLEDO I (1L) 1993-1999
|
VW-23332333 SE-20204
Rot Takimi Salincak Burcu
'i . On Sol On Dig
(WITHPS) M14x1,5Rht 191407181D
6K0422803D
| |
SE-20156A SE-20156
Salincak Burcu Salincak Burcu
On On Dig ?
357407181 357407181 =
| |
SE-20155 AU-20328
Salincak Burcu Salincak Burcu
Orta  OnSagAllg 2
. 357407182F 4A0399413A /
| .|
SE-20438
@ Salincak Burcu
] Onic
- 191407181D
TOLEDO Il (1M2) 1999-2006
| |
AU-20328 SE-20155
Salincak Burcu Salincak Burcu
// On Sag Alt ig Orta ‘
- 4A0399413A 357407182F
| |
AU-12502 AU-12501
{;‘; Rotbasi Rotbasi :ZF
{3 On Sol On Sag 1]
@d M14x1,5Rht M14x1,5Rht %
e - 6Q0419811  6Q0419812 - -
| |
AU-13503 AU-23506
Rot Mili Rot Takimi
PN Onig On Sag .9__—41’

Ch.8L-W-050-423-> M14x1,5-L=320mm

1J0422807A

Ch.8L.W-050-423->

1H0422804D

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

SEAT

1999-2006

2006-2009

mw Land
TOLEDO Il (1M2)
AU-23507 AU-11504
Rot Takimi Rotil
L o~ On Sol On Sag Alt
Ch.8L.W-050-423-> 1J0407366C
1H0422803D
|
AU-11504S AU-11505
7 Caa Rotil Rotil
N OnsSagAlt  On Sol Alt
Kit 404073658
1J0407366C
AU-11505S AU-16525
Rotil Rotilli Salincak
OnSolAlt  On Sag Alt
Kit 404071518
1J0407366C
|
AU-16526 VW-18500
Rotilli Salincak Salincak Tamir Kiti
On Sol Alt On ve Arka
1J0407151A
|
VW-14531 AU-14500
Z-Rot Z-Rot
On On Sag
Plastic L=105,5mm 4Motion L=336mm
1J0411315C 1J0411316D
]
AU-2012
. Salincak Burcu
. On Sag Alt Dis
1J0407181
TOLEDO Il (5P2)
|
AU-18552 VW-14558
e Salincak Tamir Kiti Z-Rot
Arka Arka
SE-108-SE-109/A-5582AD/V-5582AD L=95,5mm
h 1K0505465K

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land SEAT
TOLEDO Il (5P2) 2006-2009
|
VW-20558K SE-19108
% Z-Rot Kiti Denge Kolu
h,____.f Arka  Arka Sag Alt ()
- = =
n Py L=95,5mm L=298mm
1K0505465KS1 1K0501530C
|
SE-19109 SK-19457
Denge Kolu Denge Kolu
g, Arka Sol Alt  Arka Alt
L=298mm L=298mm
1K0501529F 1K0501529J
| |
VW-12552 VW-13553
‘:\ Rotbasi Rot Mili
. On Sol Onig =
M16x1,5Rht M16x1,5-L=310mm
1K0423811K 1K0423810A
| .|
VW-12551 AU-18152
: Rotbasi Salincak Tamir Kiti —
W On Sag On
M16x1,5Rht X-SSSN-556-V-557-SB487/SB488/SB48
1K0423812K
|
VW-14557 VW-11555
Z-Rot Rotil
’_‘ On On Sag Alt
L=335mm 4k 0407366E
1K0411315J
P VW-11556 VW-19228
. .’V’s’ Rotil Denge Kolu
‘f,.‘ 4 OnSol At Arka Alt
¢ 1 1K0407365E 1K0505311AB
AU-20489 AU-20487
Salincak Burcu Salincak Burcu
.n. a Sol Orta
L 3 m— 5
ﬂ 1K0199231H 5Q0407182

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land SEAT
Il (5P2) 2006-2009
|
AU-20488 SK-16459N
Salincak Burcu Rotilsiz Salincak
Sa§g  On Sol Alt ﬁ
1K0199232H 1K0407151H
|
SK-16458N SK-16459
Rotilsiz Salincak Rotilli Salincak
OnSagAlt  On Sol Alt A
1K0407152BC 1K0407151BC 4
|
SK-16458
Rotilli Salincak
: On Sag Alt
. 1K0407152BC

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com






